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Chapter 5 (Questions 1-40)

Chapter 10 (Questions 41-80)

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

1)Which of the following is not true about our perceptions of a target?  

A)Objects that are close together will be perceived together rather than separately.  

B)Targets are usually looked at in isolation.  

C)Persons that are similar to each other tend to be grouped together.  

D)Objects that are distant from one another will be perceived separately rather than as a group.  

E)Motion, sounds, size, and other attributes of a target shape the way we see it.  

2)Leone thinks that because her employee Josef went to an Ivy League college he is very knowledgeable, and always asks his opinion on the firm's investments. In reality, Josef knows very little about investing, but makes sure he reads up on it so that he can give an informed opinion to Leone. What has occurred in this situation?  

A)a self-serving bias  

B)a self-fulfilling prophecy  

C)a projection event  

D)the fundamental attribution error  

E)profiling  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

3)The halo effect occurs because it is impossible for us to assimilate everything we see.  

4)Personal characteristics affecting perception include the time at which an object or event is seen.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

5)Mel has exceeded her budget by at least $200 every month for the last three months. After recognizing that this is a problem, she decides to use the rational decision-making model to decide what to do. What might be the next step she takes if she follows this model?  

A)come up with different ways that would either reduce her expenses or increase her income  

B)determine what she needs to take into account when making her decision  

C)weigh the relative importance of each of her expenses  

D)evaluate different ways that she could use to either reduce her expenses or increase her income  

E)choose a method to cut her expenses  

6)Decision makers construct simplified models that extract the essential features from problems without capturing all their complexity. That is, they operate within the confines of ________.  

A)rationality  

B)bounded rationality  

C)intuitive decision making  

D)optimal decision making  

E)common sense  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

7)To optimize an outcome, bounded rationality should be used.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

8)Where is overconfidence most likely to surface?  

A)in your area of expertise  

B)among older workers  

C)among higher wage earners  

D)outside your area of expertise  

E)with more education and training  

9)What is the term used for an increased commitment to a previous decision in spite of negative information?  

A)rose-colored-glasses  

B)escalation of commitment  

C)hindsight  

D)representative  

E)satisficing  

10)Because it is impossible for us to assimilate everything we perceive, we engage in ________.  

A)periodic listening  

B)memorization  

C)linear clustering  

D)selective perception  

E)mental desensitization  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

11)An individual's expectations have little effect on perception.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

You are part of a group making a decision about whether it is appropriate to discontinue research on a new drug. This new drug would save lives, but it is uncertain whether you can develop it within a reasonable time frame and at a reasonable cost. Your firm has already spent a small fortune on this drug. You have gathered so much information in preparation to making the decision that you are unable to sort the good information from the superfluous data. Your experience tells you that this project has merit.

12)What form of decision making are you using if you decide to continue the project on the basis that the project has merit?  

A)intuitive  

B)compelling  

C)rational  

D)satisficing  

E)compulsive  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

13)Expectations can distort your perceptions in that you will see what you did not expect.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

14)Which of the following is not a factor in the individual perceiver?  

A)motive  

B)expectation  

C)attitude  

D)perception  

E)location  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

15)A satisficing solution is satisfactory but not sufficient.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

You are the manager of a development group in a large computer software company. You have decided that it is important for your group to understand the many ways that ethical decisions can be made and you are designing a training program on the subject of ethics. You want to teach the decision criterion that currently dominates business decision-making.

16)If you wish to emphasize the importance of making decisions consistent with fundamental liberties and privileges, the focus of your teaching will also be on which of the following?  

A)justice  

B)service  

C)rights  

D)utilitarianism  

E)privilege  

17)Avoiding making decisions on Friday the 13th can be an example of which bias?  

A)representative  

B)commitment  

C)substitution  

D)confirmation  

E)randomness  

18)Jenny is being interviewed for a position as an editor. At the start of the interview she is flustered and repeatedly mispronounces the name of the company she is applying to work for. She thinks the rest of the interview goes very well and she is confident about getting the job. Why might her confidence be misplaced?  

A)Employers gain most of their knowledge of a potential employee's skill set through interviewing.  

B)Interviewers make perceptual judgments that are often inaccurate.  

C)Most interviewers make their decision by the first 5 minutes of the interview.  

D)Interviewers will use stereotypes to judge her, so what she says and does at the interview will be of little importance.  

E)Most employment decisions have been made before the interview is conducted.  

19)Why do people satisfice?  

A)They lack the capability to assimilate and understand all the information necessary to optimize.  

B)Solutions that solve a problem, even if they are not the best solution, are generally satisfactory.  

C)Resource restraints usually prevent people from entertaining all the options possible.  

D)Any solution that solves a problem will be considered to be acceptable if the other possible options are not explored.  

E)In general, people lack the motivation to perform rational decision-making fully.  

20)When individuals observe another person's behavior, they attempt to determine whether it is internally or externally caused. This phenomenon is most directly relevant to which of the following?  

A)projection theory  

B)the Pygmalion effect  

C)attribution theory  

D)expectancy theory  

E)selective perception theory  

21)What sort of actions is most likely to be attributed to external causes?  

A)actions that have high distinctiveness, high consensus, and low consistency  

B)actions that have high distinctiveness, high consensus, and high consistency  

C)actions that have high distinctiveness, low consensus, and low consistency  

D)actions that have low distinctiveness, low consensus, and low consistency  

E)actions that have low distinctiveness, low consistency, and high consensus  

22)David has the opinion that people who drive SUVs are dangerous drivers. He often perceives that people driving SUVs are doing so in a dangerous manner, even when other observers can see nothing wrong with the behavior of the SUV drivers. What factor in David is affecting his perception in this case?  

A)his expectations  

B)his interests  

C)his background  

D)his experiences  

E)his motives  

23)What is the segment in the three-component model of creativity that turns creative potential into actual creative ideas?  

A)creative thinking skills  

B)intrinsic task motivation  

C)realization  

D)expertise  

E)intuition  

24)What term is used for the tendency to underestimate the influence of external factors and overestimate the influence of internal factors when making judgments about the behavior of others?  

A)selective perception  

B)actor bias  

C)consistency  

D)self-serving bias  

E)fundamental attribution error  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

25)Attribution theory looks at the internal and external causes of behavior.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

26)In attribution theory, what is distinctiveness?  

A)whether an individual displays different behaviors in different situations  

B)whether an individual displays consistent behaviors in similar situations  

C)whether an individual displays different behavior from other people  

D)whether an individual displays different behaviors in similar situations  

E)whether an individual displays consistent behaviors in different situations  

27)When F. Scott Fitzgerald said, "The very rich are different from you and me," and Hemingway replied, "Yes, they have more money," Hemingway refused to engage in what shortcut to judge others?  

A)prototyping  

B)projection  

C)halo effect  

D)stereotyping  

E)contrast effect  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

28)Giving an attribution an external causation means you assume that the individual is responsible for his or her own behavior.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

29)Shortcuts in judging others include all of the following except ________.  

A)the Pygmalion effect  

B)projection  

C)self-serving bias  

D)halo effect  

E)stereotyping  

30)What is the name of the theory that deals with how we explain behavior differently depending on the meaning we assign to the actor?  

A)behavioral theory  

B)attribution theory  

C)judgment theory  

D)equality theory  

E)selective perception theory  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

31)One person's problem may be considered by another person to be a satisfactory state of affairs.  

32)Intuitive decision analysis must operate independently of rational analysis.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

33)What are the three classes of factors that influence perception?  

A)factors in the senses, factors in the surroundings, and factors in the lighting  

B)factors in the setting, factors in the environment, and factors in the motives  

C)factors in the perceiver, factors in the target, and factors in the situation  

D)factors in the character, factors in knowledge, and factors in experience  

E)factors in the personality, factors in the character, and factors in the values  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

34)Another name for the self-serving bias is the Pygmalion effect.  

35)Managers are generally the only ones who make decisions in an organization.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

36)Investors bragged about their investing expertise during the stock market rally between 1996 and early 2000, then blamed analysts, brokers, and the Federal Reserve when the market imploded in 2000. These investors were most probably guilty of what?  

A)distinctiveness  

B)the halo effect  

C)self-serving bias  

D)selective perception  

E)fundamental attribution error  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

37)Ethical standards are less ambiguous in Asia than in the United States.  

38)Jackson continues to put money into car repair even though he knows the car is a "lemon." This is an example of the availability bias.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

39)In the real world what do people typically do?  

A)obtain complete information  

B)seek the optimal decision  

C)find an acceptable solution  

D)remain unbiased and objective 

E)follow the rational decision-making model  

40)What is perhaps the least rational way of making a decision?  

A)to use complete information  

B)to rely on intuition  

C)to use a conscious thought-process  

D)to remain objective  

E)to use bounded rationality  

You are the vice-president of a division of a large, multi-national company that makes electronic equipment for consumers and the military. You have several managers that have created some teams. Also, there are several projects underway and you need to decide what types of teams to use for each situation.

41)Your company has recently landed a contract to design and manufacture a new state-of-the-art electronic device for the military. This will be a very complex project, requiring many different types of skills. Which of the following types of teams is most suited for the project?  

A)self-managed  

B)cross-functional  

C)virtual  

D)problem-solving  

E)task-resolution  

42)________ teams are an effective way to allow people from diverse areas within an organization to exchange information, develop new ideas and solve problems, and coordinate complex projects.  

A)Self-managed  

B)Cross-functional  

C)Problem-solving  

D)Star matrix  

E)Multifaceted  

43)Which of the following statements best serves to weaken the argument that trust contributes to team effectiveness?  

A)Teams with the highest trust ratings for their leadership tend to outperform teams with lower leadership trust ratings.  

B)The most cooperative teams are those that share the greatest amount of trust.  

C)Regardless of trust level, most individuals resist exposing vulnerabilities to their co-workers.  

D)Research shows that trust among team members is directly linked to members' willingness to take risks.  

E)Team members who trust each other tend to spend less time monitoring each other's behavior.  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

44)Task conflict increases the likelihood of groupthink.  

45)Compared to traditional departments, teams tend to be less flexible and less responsive to changing events.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

46)Which of the following is not one of the nine potential team roles identified for successful teams?  

A)organizer  

B)allocator  

C)controller  

D)promoter  

E)maintainer  

You have been assigned to a problem-solving team. You have never met any of the team members before, but you have been given their resumes. It is your job to match the team members to the various roles that are needed for successful completion of your project.

Your team consists of the following members. Iris is a recent college graduate with a degree in mathematics. She likes to keep an eye on the big picture and enjoys coordinating the work of others. James has been with the company for 15 years and has had experience in several areas within the company. He has a reputation for strong leadership and effective follow-through. Betty is highly motivated and intelligent. She has several advanced degrees and is able to view situations from differing viewpoints. You have decided that you are willing to take on any group role that is handed to you, but you are more comfortable with implementing ideas than with initiating them.

47)James is best suited to which role?  

A)maintainer  

B)linker  

C)adviser  

D)producer  

E)organizer  

48)If an employee is considered "untrainable" as a team member, he or she most likely ________.  

A)comes from a culture that upholds collectivist values  

B)can be successfully transferred from one team to another  

C)will find it difficult to transition to working in teams  

D)lacks the technical skills necessary for a team position  

E)will be willing to undergo training in order to learn team skills  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

49)Work teams are easy for American workers because Americans grow up learning the importance of teamwork through sports.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

50)What is a team called when its members consider and adjust their master plan when necessary?  

A)goal congruent  

B)reflexive  

C)social facilitating  

D)mental models  

E)social loafing  

51)Team members with good listening, feedback, and conflict resolution skills possess ________.  

A)cognitive appraisal skills  

B)technical expertise 

C)problem-solving skills  

D)decision-making skills  

E)interpersonal skills  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

52)The four most common forms of teams are: problem-solving, self-managed, cross-functional, and global.  

53)The most effective teams have between ten and fifteen members.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

54)Which of the following helps explain the current popularity of teams? Teams ________.  

A)promote socialization  

B)are easier to manage  

C)are very efficient  

D)are a way to better utilize employee talents  

E)are less expensive  

55)Which of the following statements best defines a work group?  

A)A work group interacts primarily to share information, rather than to engage in work that requires joint effort.  

B)A work group consists of 3 or more people who take on self-supervising responsibilities.  

C)The performance of a work group is generally greater than the sum of its inputs from individual members.  

D)A work group consists of 3 or more people from across departmental or functional lines.  

E)A work group is a group comprised of 10 or more people.  

56)Exercises that help individuals become team players include workshops in ________.  

A)recruiting  

B)individualism  

C)negotiation  

D)goal setting  

E)event planning  

57)Which of the following strategies would managers find least helpful for turning individuals into team players?  

A)rewarding cooperative efforts  

B)setting goals  

C)selecting appropriate candidates  

D)providing training  

E)encouraging mentorship  

58)Coasting on the group effort is termed ________.  

A)dysfunction  

B)incompetence  

C)inconsistency  

D)half-focus bias  

E)social loafing  

59)What types of people are valuable in teams because they're good at backing up fellow team members and at sensing when that support is truly needed?  

A)conscientious people  

B)extroverted people  

C)agreeable people  

D)open people  

E)introverted people  

60)In addition to evaluating and rewarding employees for their individual contributions, management should consider using which of the following to reinforce team effort and commitment?  

A)individual performance evaluations  

B)profit sharing  

C)personalized incentives  

D)consistent wages for all team members  

E)fixed hourly wages  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

61)Individuals on self-managed work teams have lower absenteeism rates than employees in traditional work structures.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

62)Which of the following qualities is not found in work groups?  

A)objectives  

B)enthusiasm  

C)energy  

D)synergy  

E)security  

63)Which of the following is most likely to increase team efficacy?  

A)helping the team achieve small successes  

B)ensuring that team goals are challenging  

C)limiting time spent in training  

D)reducing the number of members on a team  

E)providing measurable goals  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

64)Work teams often provide intrinsic rewards, such as camaraderie.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

65)What is the degree to which members of a work unit share a common demographic attribute and the impact of this attribute on turnover?  

A)organizational demography  

B)turnover rate  

C)department demography  

D)group demography  

E)work demography  

66)Process variables include all of the following except ________.  

A)minimized social loafing  

B)climate of trust  

C)team efficacy  

D)specific goals  

E)member commitment to a common purpose  

67)Your company is considering implementing work teams in your Vietnam facility. You should find this relatively easy because those employees will have strong ________ values.  

A)acculturation  

B)creative  

C)capitalistic  

D)cultural  

E)collectivist  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

68)Cross-functional teams are made up of employees from about the same hierarchical level, but from different work areas, who come together to accomplish a task.  

69)Problem-solving teams generally consist of 5 to 12 hourly employees from the same department.  

70)On a team, the role of the "creator" describes the person who analyzes decision options.  

71)Canadians would most likely have more difficulty using work teams than the Japanese.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

72)Which type of team meets to discuss ways to improve quality, efficiency, and the work environment?  

A)problem-solving  B)self-managed  C)committee  D)virtual  E)cross-functional  

73)There are four contextual factors that appear to be most significantly related to team performance. Which of the following is not one of those factors?  

A)adequate resources  

B)a performance evaluation and reward system that reflects team contributions  

C)work autonomy  

D)effective leadership  

E)All of the above are contextual factors. 

74)Which of the following statements best characterizes the use of work teams?  

A)Within a company, teams perform best if they are structured similarly.  

B)In successful companies, teamwork is always preferable to individual work.  

C)Teams are unnecessary if an individual can do the job better.  

D)Employees are usually responsible for suggesting that teams be created.  

E)Teams are necessary for encouraging individuals to work independently.  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

75)Work groups typically generate more positive synergy than do work teams.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

76)Sharon has an assertive personality and naturally tends to stand up for her team in conflicts with other teams or departments. She is a strong defender and is fiercely loyal to the other members on her team. Sharon is most likely suited for which of the following team roles?  

A)producer  B)controller  C)assessor  D)advocate  E)maintainer  

77)In a ________ team the manager's job becomes managing outside the team.  

A)management  B)technical  C)self-managed  D)reactive  E)problem-solving  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

78)Teams that are completely void of conflict are likely to become apathetic and stagnant.  

79)As a result of self-managed teams, supervisory positions may be eliminated.  

80)Unlike work teams, work groups are most effective when their synergy is strongest.  
